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Worksheet – Properties of Solutions:  Raoult’s Law
Glycerin, (MW = 92.1), is a nonvolatile liquid.  What is the vapor pressure of a solution made by adding 164 grams of Glycerin to 338 ml  of water at 39.8 degrees.   The vapor pressure of water at this temperature is 54.674 torr and its density is .992 g/ml ?

What is the vapor pressure of a soln. Made by adding 52.9 grams of Copper (II) Chloride; a strong electrolyte, to 800 ml of water at 52 degrees.  The vapor pressure at this temperature is 102.1 torr and its density is .987 g/ml .

At 29.6 degrees, pure water has a vapor pressure of 31.1 torr.  A solution is prepared by adding 86.7 grams of “Y”, a nonvolatile nonelectrolyte to 350 grams of water.   The vapor pressure of he resulting solution is 28.6 torr.  Calculate the molecular weight of “Y” .

The vapor pressure of pure hexane ( M.W. = 86 g/n ) at 60 degrees is 573 torr. That of pure benzene ( M.W. = 78 g/n ) at 60 degrees is 391 torr.   What is the expected vapor pressure of a solution prepared by mixing 58.9 grams of hexane with 44 grams of benzene ?

